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Part A: Grammar and VVocabulary

Direction: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- Research has shown that children ............... violent video games tend to become more
aggressive.

1) whom they watch

2) who watching

3) watch

4) watching

2- that adults and children have different tolerance levels for chemicals.
1) That it has believed

2) Itis believed

3) It believed

4) Believed

3- If we increased the price, we ............ the risk of pricing ourselves out of the market.
1) would have run

2) would run

3) had run

4) ran

4-You didn’t tell me it was Harriet’s birthday yesterday. Now she’s angry at me because | forgot.
YOu .ooovvvveen me about it earlier.

1) should have told
2) must have told

3) should tell



4) must tell

5- During the first ...................... Weeks of my university days, I was confronted with
unforeseen difficulties.

1) a few of the
2) few of

3) few

4) a few

6- Willyou ... your interest in the event by returning the response card
as soon as possible?

1) accommodate
2) acknowledge
3) contemplate
4) contradict

7- With several clogged arteries, the unhealthy man had a serious .................... to lose weight
and get fit.

1) margin
2) portion
3) income
4) motive

8- It is probably the most difficult point raised and perhaps the one which deserves the most
...................... explanation.

1) contemporary
2) contradictory
3) comprehensive
4) contemptuous

9- The figures are so big that there is a risk that we may not see them in their proper



1) proportion
2) participation
3) promotion
4) precision

10- Asa(n) ..oooevveiiniiiii risk-taker, Bob enjoyed exploring dark caves in his spare
time.

1) meticulous
2) ambiguous
3) conspicuous
4) adventurous

Part B: Reading Comprehension

Directions : Read the following passage and select the choice (1), (2), (3), or (4) that
best answers each question. Then mark your answer on your answer sheet.

A recent survey has shown that the number of people in the United Kingdom who do not intend
to get internet access has risen. These people, who are known as “net refuseniks”, make up 44%
of UK households, or 11.2 million people in total. The research also showed that more than 70
percent of these people said that they were not interested in getting connected to the internet. This
number has risen from just over 50% in 2005, with most giving lack of computer skills as a reason
for not getting internet access, through some also said it was because of the cost.

More and more people are getting broadband and high speed net is available almost everywhere
in the UK, but there are still a significant number of people who refuse to take the first step. The
cost of getting online is going down and internet speeds are increasing, so many see the main
challenge to be explaining the relevance of the internet to this group. This would encourage them
to get connected before they are left too far behind. The gap between those who use the internet
and those who do not is the digital divide, and if the gap continues to widen, those without access
will get left behind and miss out on many opportunities, especially in their careers.

11- Which of the following is the best title for the passage?
1) Refusing to Take the First Step.

2) The Advantages of Using the Internet.

3) How Life Would Be Without the Internet.



4) The Digital Divide in the United Kingdom.

12- Which of the following statements is true?

1) About 44% of the households in Europe do not intend to get connected to the internet.
2) More and more people are getting broadband services in the United Kingdom.
3) More than 70% of UK households are not interested in using the internet.

4) About 11.2 million people in the world have not access to the internet.

13- Which reasons do people offer for showing no internet in using the internet?
1) Lack of computers skills and technical problems.

2) Computer illiteracy and cultural factors.

3) Lack of computer skills and the cost.

4) Economic and cultural problems.

14- The word “relevance” in paragraph 2 is closest in meaning to ..................
1) applicability

2) originality

3) superiority

3) familiarity

15- The word “their” in paragraph 2 refersto............................

1) people using the internet

2) many opportunities

3) net refuseniks

4) those



